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The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

Hlustrate the answers wherever necessary

[NEW SYLLABUS |
GROUP - A

Answer any two questions : I5x2

1. How did the financial crisis of the Bourbon

monarchy result in the French Revolution of
1789 ?
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2. What role did philosophers play in the French
Revolution of 1789 ?

3. How far did the Vienna congress of 1815
re-establish the conservative order in Europe ?

4. What were the causes of the July Revolution in
Europe ? ‘

5. What was the Eastern Question ? How did it
‘create a background for the First World War ?

6. Was Germany's aggressive foreign policy alone
_responsible for the outbreak of the Second World
War ?

GROUP —-B -
Answer any five questions : 8x5

7. Why has the French Revolution of 1789 been
called a 'bourgeois _revolution' 2

8. Review the work Qf the French Constituent'
Assembly.
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18.

19.

20.
21.
22.

23.

24.

25.

26.
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What was the Tennis Court Oath ?

What was the differencc between the Jacobins
and the Girondins ?

What was the 'Metternich System' ?
Why did the Crimean war occur ?
What was Kaiser Wilhelm II's'Weltpolitik' ?

What was the New Economic Policy (NEP) of
Lenin ?

What were the reasons of the rise of Nazism in
Germany ?

Why was there a formation of "Rome-Berlin
-Tokyo' alliance before the Second World War ?

What were the objectives of the United Nations
Organization ?
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10.
11.

12.

13.

14.

18.
16.
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Why was Europe divided into two rival armed
camps towards the end of the 19th century ?

Why did the Bolsheviks succeed in 1917 2

What was the role of foreign powers in the
Italian unification movement ?

What was the impact of Locarno treaty on
contemporary European Politics ?

What is the difference between Utopian Socialism
and Marxism ?

Do you think that the Treaty of versailles failed
to establish peace ?

Critically discuss the policy of Appeasement ?

What was the significance of the Russo-German
Non-aggressian Treaty of 1939 ?

GROUP -C
Answer any five of the following : 4x5

17. Who were the physiocrats 7
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